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	Řešení originálů z ŠU 8/2023
57 J.Fomičev
1.gxh6 hr. 2.Dg5+, 1…J jakk. 2.Jc6+, 1…Kd6 2.Jf5+

(3x1,33 = 4 body)
58 A.Fica + J.Jelínek

A: 1.h8V c5 2.Jd4+ cxd4 3.Vh2 dxc(e)3 4.Vf8+ Kg4 5.Se2+ Kg5 6.Dg3+ Jxg3X
B: 1.f8J c5 2.Jd4+ cxd4 3.Dxd4 Kf4 4.h8V Kf5 5.Vh2 Kf4 6.Df2+ Jxf2X
C: 1.a8V c5 2.Ve8 c4 3.b8J cxd3 4.Dc5+ Jxc5 5.Jd4+ Kf6 6.Jd7+ Jxd7X
(6+3+3 = 12 bodů)
59 A.Fica + Z.Labai
1.Sc4 Sc5+ 2.Kd3 Sc2X

1.Ke3 Sd5 2.Sd4 Sd2X

1.Ke5 Vg5+ 2.Kf6 Se7X

(3x0,66 = 2 body)
60 A.Fica + P.Kameník
1.c2 Vb6 2.Kc3 Sxd5 3.Dd4 Vb3X

1.Dd3+ Kh6 2.Ke4 Kg5 3.d4 Ve6X

1.Kd3 Vf6 2.Ke2 Sa6+ 3.Ke1 Vf1X

1.Ke4 Kg7 2.d4 Kf6 3.d3 Vc4X

(4x1,5 = 6 bodů)
Nezlomil vás ani trojitý samomat, gratulujeme třinácti vítězům s plným počtem 24 bodů.
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